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Now you try!

1.

4,

5.

In the following reactions, identify the acid, base, conjugate acid (CA) énd conjugate base {CB).

a) HBrlag) + NHiag) -2 NH4+(aq) + Br {aq)

A B CA Ce
b) HPO,(ag) + H,SOi(aq) > HSO,(ag) + H.,PO, (aq)
B A e CA
0 COfaq) + NH/(aa) = NHifaq) + HCOs(aq)
B A CB CA |
What is the conjugate base of H,5? H S 3. What is the conjugate acid of HCO; ? M

Which of the following represent a Bronsted-Lowry conjugate acid-base pair?

a. H,CrO4(aq) and Cro,* (aq)

HCrO,™ {aq) and Cro,*(aq)

c. HCrO, (aq)and H,0(l)
d. H;0*{aq) and OH (aq)

Which of the following species is amphoteric? -

A g CA (%
HSO, + H,0 S HiO' + SO.°

In the equilibrium represehted above, the species that act as bases include which of the followi'ng?
a. SO,
b, HSO,

@ H,O and 50,2

d. H20



